Review: Comparison summary

Resnick & Halliday



Problem 1



Problem 1 — Hints

TABLE 4.1 Rotational and linear kinematics for constant acceleration

Rotational kinematics Linear kinematics
@f=wi+aAr Ve, = Vi, T a, At

0; = 6, + w, At + 5 a(Ar)? s¢ =5, + v, At + 3 a,(Ar)?
wf = w’+2a A6 vel = v.2+ 2a, As

Knight (2013)



Problem 2



Problem 2 — Hints

Tangential accel.

Radial accel.



Problem 3



Problem 3 — Hints

Angular velocity o is a vector. And you know how to add vectors....



Problem 4



Problem 4 — Hints



Problem 5



Problem 5 — Hints

Now you have two egns. w/ two unknownes...



Conservation of Energy (Revisited)

When the smoke clears....

The "disk" wins the race. Perhaps not very intuitive at first....

... until you keep in mind a key principle at play here:
Energy can be stored in a variety of ways

Note: We will revisit this calculation during tutorial (there
is a bit more here than meets the eye...)

Kesten & Tauck









